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(¢) hael 137K 3
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With reference to the ‘Prohibition of Ben;imi
Property Transactions Act, 1988 (PBPT Act)’,
consider the following statements :

1.

A property transaction is not treated as
a benami transaction if the owner of the
property is not aware of the transaction.

Properties held benami are liable for
confiscation by the Government.

The Act provides for three authorities
for investigations but does not provide
for any appellate mechanism.

Which of the statements givén above is/are

correct ?

(a) 1only

(b) 2only

(c) 1and3only
(d) 2and3only
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Consider the following statements :

The Reserve Bank of India’s recent
directives - relating to ‘Storage of
Payinent System Data’, popularly
known as data diktat, command the
payment system providers that

1. they shall ensure that entire data
relating to payment systems
operated by them are stored in a
system only in India

2. they shall ensure that the systems
are owned and operated by public
sector enterprises

3.  they shall submit the consolidated
system audit report to the
Comptroller and Auditor General of
India by the end of the calendar
year "

Which of the statements given above

is/are correct?

{a) 1 only
(b) 1 and 2 only

(c) 3 only
(d) 1,2 and 3
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(a) dhael 1,2 3R 3

(b) shaer 3 3K 4

(c) haeT 1,3 31K 4

(d) Shael 4

Which of the following statements about DNA is/are correct?
1. DNA is the hereditary material of all living organism
2. All segments of DNA code for synthesis of proteins.

3. Nuclear DNA is double helical with two nucleotide chains which
run

anti parallel.

4. DNA is also found in mitochondria.

Select the correct answer using the code given below:
(a) 1,2 and 3 only

(b) 3 and 4 only

(c)1,3and 4 only

(d) 4 only
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In the context of proposals to the use of hydrogen-enriched CNG
(H-CNG) as fuel for buses in public transport, consider the
following statements:

1. The main advantage of the use of H-CNG is the elimination of
carbon monoxide emissions.

2. H-CNG as fuel reduces carbon dioxide and hydrocarbon
emissions.

3. Hydrogen up to one-fifth by volume can be blended with CNG as
fuel for buses.

4. H-CNG makes the fuel less expensive than CNG.

Which of the statements given above is / are correct?

(a) 1 only

(b) 2 and 3 only

(c) 4 only

(d)1,2,3and 4
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The Jury Act of 1827 was opposed by
many Indians. One of the grounds for
opposing it was that it denied both to the
Hindus and Mohammedans the honor of
a seat on the Grand Jury. Which among
the following was known for his
opposition to the Jury Act ?

(a) Gopal Krishna Gokhale
(b) Lord Sinha
(c) Sir Syed Ahmed Khan

(d) Raja Rammohan Roy
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It is possible to produce algae based biofuels,
but what is/are the likely limitation(s) of
developing countries in promoting this
industry ?

1. Production of algae based biofuels is
possible in seas only and not on
continents.

2.  Setting- up and engineering the algae
based biofuel production requires high
level of expertise/technology until the
construction is completed.

3.  Economically viable production
necessitates the setting up of large scale
facilities which may raise ecological and
social concerns.

Select the correct answer using the code given
below :

(a) 1and2only
(b) 2 and 3 only
(¢) 3only

(d) 1,2and3
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. Consider the following statements :
1.

Petroleum and Natural Gas
Regulatory Board (PNGRB) is the
first regulatory.body set up by the
Government of India.

One of the tasks of PNGRB is to
ensure competitive markets for gas.

Appeals against the decisions of

PNGRB go before the Appellate
Tribunals for Electricity.

Which of the statements given above are
correct?

(@) 1 and 2 only

(b) 2 and 3 only

(c]
(d) 1,2 and 3

1 and 3 only
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The Government of India has recently
constituted a civilian award in the
name of Sardar Vallabhbhai Patel in
the field of contribution to

(a) unity and integrity of India

(b) art and culture

(c) social work

(d) entrepreneurship
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Consider the following statements :

frefafien wot w fem i .

1. UM ofieg 3R Swe  yEwE 1. The Fiscal Responsibility and Budget
(u. o dft.um.) wdften wfufe ¥ wfag Management (FRBM) Review
T fawifeer 41 78 2 f6 ad 2023 9% S Committee Report has recommended a

debt to GDP ratio of 60% for the general
{(combined) government by 2023,

Ud U A i fHee s g,

ST 60% Tl e fored Fg whn comprising 40% for the Central
foTe 78 40% qon v=w Tl F fo 20% Government and 20% for the State
il Governments.
2. T e F AR F 90 A gaw 2. The Central Government has domestic
4 %z g@r & fou AHH w1 219 liabilities of 21% of GDP as compared to
e 7 £ | 1 that of 49% of GDP of the State
h Governments,
3. ¥R % "fagE % 9En ke fed o %
g ¥z W f SEE A 9 3 3. As per the Constitution of India, it is
F ft T SR A wER g 3 mandatory for a State to take the

Central Government's consent for

: Sl % I raising any loan if the former owes any
ITAF HeAE # H FH-AVE TE RE 2 outstanding liabilities to the latter.
(a) ohad 1 Which of the statements given above isfare
l? "
(b) e 2 3w 3 gt
: (a) 1onl
(¢) <hael 13T 3 s
: (b) 2 and 3 only
d 1,233

(e} 1land3only
(dif 1,2and3
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With reference to the management of
minor minerals in India, consider the

following statements :

1.

Sand is a ‘minor mineral’ according
to the prevailing law in the country.

State Governments have the power
to grant mining leases of minor
minerals, but the powers regarding
the formation of rules related to the
grant of minor minerals lie with the
Central Government.

State Governments have the power
to frame rules to prevent illegal
mining of minor minerals.

Which of the statements given above
is/are correct?

{a} 1 and 3 only

{6} 2 and 3 only
(¢} 3 only

(d 1,2 and 3



(.Y
: . P = [l{ﬁliﬁ With reference to Asian Infrastructure \/
PRI JaRie (AlIB)] & &M #, Investment Bank (AlIB), consider the

tforRera ot o frem il - following statements :
1. AIIB % 80 & ifye waw ug §) 1. AIB has more than 80 member
2. AlIB ¥ YRA 998 91 IRURF ¥ nations.
3. AIB % ufimg 2. India is the largest shareholder in
2 A T 0 T AlIB.
3. AIIB does not have any members
3'3@?5 q4 Tﬂ?-mm a;q:r-\qﬁgfg? from outside Asia,
(@) aa 1 Which of the statements given above
(b) ¥ae 2 3 3 is/are correct?
1
() ¥a@ 133 *;':EC'“EEW
and 3 o
d 1,23R3

fcg 1 and 3 only
({d 1,2 and 3
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